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=1 40,0003 123 480
OXSZHIAIE KX 22 88,000 x12& 1,056
ONWAIEZ 16,500& =128 198
OSEE £8523 150,000& = 12& 1,800
OMEH RFH 3,000,000& x14 3,000
OFAL HIItHFH =2 100,000& 23] 200
O2EXE RA2c 5,000,000& » 14 5,000
301 LBt A 600 600 0
09 #HALAHIZ A S 600 600 0
OZZLEE3E ASHA =& 600, 000 600
=@l MEsd o 11,080 6,000 5,080
101 @14 Hl 4,000 3,000 1,000
04 JIZHHZ2XRHEES 4,000 3,000 1,000
OZ2Z x4 AR 3,000
Oct&E EHII|l 12 100,000 5% »23| 1,000
206 T 24 3,000 3,000 0
01 M= 4l 3,000 3,000 0
OZZx4d Mz 7¢ 3,000
301 et d = 4,080 0 4,080
01 MEIBZE 06z 4,080 0 4,080
O3k IHEL=2 LAY 4,080
THoH Ol ==0l=J ofl& 88,000 99,000 A 11,000
201 2Bt2 Y| 5,000 4,000 1,000
01 At 22l 5,000 4,000 1,000
OMoiol e & =7 HH SX= 5,000
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fAM: EXH
M dxH HFHAX WEHIT ==
S

CHol XY MEAUIA 25 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

401 Al HI 2L 2 0HHI 83,000 95,000 A 12,000

01 A& HI 82,136 94,136 A 12,000
OfIg+= MAHXNEA 3,000
OAX 02 THaHHEAFE  20,000,000& *98.92% 19,784
2=2| RHOH Ol 2 A 15,000, 000& *98.92% 14,838
OJX 02 THoH W ZAFR 10,000,000 *98.92% 9,892
O 0IS THoH O ZAFR 15,000, 000& *98.92% 14,838
O220t2 THoHW ZAFE 10,000,000 *98.92% 9,892
OAID|0t2 THOH I AR 10,000,000 *98.92% 9,892

03 A& 2 0HHI 864 864 0
Ol =2 =JdH& 80,000,000& *1.08% 864

A2 THoH Ol & 30,000 30,000 0

401 AIEHIL 20| 30,000 30,000 0

01 Al& Bl 29,676 29,676 0
OALAZ2 THOH O Z A 30,000, 000& *98.92% 29,676

03 A& 20HH| 324 324 0
OALA2 THOH O Z AN 30,000, 000& *1.08% 324

HMSHAY (EXIH) 55,464 54,820 644

Jl=23 bl 55,464 54,820 644

SX®H J2&EHl 55,464 54,820 644

201 Bt A H| 14,664 14,520 144

01 AFR 22l Yl 11,664 11,520 144
OHHE gR2FA 9,331,200% 1 9,332
OHE 28 (SHl) 2,332,000& x 14 2,332

02 35244l 3,000 3,000 0
OFAMNEX & 22| 3,000

202 04| 27,720 27,720 0

01 2LHOHI 2,880 2,880 0
OHE HR=F=& 2,880,000 x 14 2,880

02 EH Yl 24,840 24,840 0
OHE 200,000& x1H x12& 2,400
OfHE 0/|dt 170,000& *11H x12& 22,440

203 ¢ 2= &b 10,080 10,080 0

01 J|2A2I9 PR =&Y 6,600 6,600 0
o4 6,600

02 RN R =AY 480 480 0
OF A Itat 40,000& *124 480

04 ENSIHRF=EY| 3,000 3,000 0
OfMd&d 250,000& x12& 3,000
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fAM: EHXE
HM: HHSAAH (AR H)

el JI=23Hl

= - - SHE]|
SN FHE - B(BA) - MRAY - BHES Ol &t o4 e
405 XHoHF S HI 3,000 2,500
01 XY 2 ZFH S| 3,000 2,500
OHE g2=2 3,000
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H = 0 A&F AF S & Al
20178 = S0l A LB H LAS ~ XIATH
Xl AFAH
XAIH EOHXX UWERZA 75
KA SHEAHHI A 235 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
XIAFH 252,977 294,695 N41,718
NASH BAHXX WERKZD 25 199,513 241,375 N41,862
KAFSH SHAE HHIA 235 199,513 241,375 N41,862
HHANHIA 2229 66,893 102,375 N 35,482
101 @121l 518 0 518
04 JI2ZtH 22 XNEE 518 0 518
OHAEAN Hel o=2Y 51,760& *1H x103] 518
201 LBEt2H Y| 65,775 83,775 A 18,000
01 At 22l Yl 12,175 30,175 A 18,000
OFINZLHE L ME 2SE  400,000& x4Z | 1,600
OMRIID 89 A28 F2¢ 500,000& x12& 6,000
OJIEFAR 22l Y] 4,575,000& =14 4,575
02 3524l 53,600 53,600 0
OFANLS 1,200
OAIR4 I3 500,000& x12& 6,000
Oltgs #JIe3 2,500,000x12& 30,000
OXNsdHANE X2 100,000& = 12& 1,200
Odtete 22 400,000& »14 400
ORdeSAESs 200,000 x 1 200
OREE €523 200,000& = 12& 2,400
OARa R2M 4,000,000& =14 4,000
OFAN HIIHHEH =2 100,000& *x23] 200
O2832 FA22 5,000,000& =1 5,000
OosXza 29 3,000,000& =1 3,000
301 dEtEAZ 600 600 0
09 HALAHIBEA = 600 600 0
ORBHAS S 2E #A =X
600,000& 14 600
F0lEHS MEEH Ofd 13,620 10,000 3,620
101 @121l 7,100 6,600 500
04 JI2ZtH2E2XNEE S 7,100 6,600 500
OHE EH)] o2 100, 000& *7H x33] 2,100
Ozttt 2tel o2 1,000
Odtd EHIIl o2 100, 000& *5H x4 3] 2,000
OStz o auz e o=y
00,000& x5 x33] 1,500
03.154 EHIIXY oY
100, 000& *5H x 13| 500
206 M=l 1,000 1,000 0
01 &bl 1,000 1,000 0
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M XAH
M AAME HFOHUX WERD 2=
SH X

CHl: XIAFAH S HIA 23 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ostet&e M 7 1,000, 000& 14! 1,000
301 et A= 5,520 2,400 3,120
01 Al B & A 462 3,120 0 3,120
=g A JIEYUE SHAAY 3,120
11 JIEtE A2 2,400 2,400 0
ONE (28, Fah8)Bele 243
100, 000& 2 x123| 2,400
Moo F=2l=2 & 89,000 99,000 A 10,000
201 et | 6,000 4,000 2,000
01 AFR 2t 2| H| 6,000 4,000 2,000
OMadliog & 232 &l dX= 6,000
401 AlEHIZL £ 0HY| 83,000 95,000 A 12,000
01 Al&H| 82,136 94,136 A 12,000
O2J] M& Hd| 20,000, 000& *98.92% 19,784
O2%8 gls 4+2 &
20,000,000 x98.92% 19,784
Oz s 2 =2 &l
10,000, 000 *98.92% 9,892
OHA =2 AH| 15,000, 000& *98.92% 14,838
o=t s T& 15,000, 000 *98.92% 14,838
OfIgs+=s MAHAXA 3,000
03 Al&E 201 Y| 864 864 0
Ol e F=2=3AS 80,000,000 *1.08% 864
A2 THoH ol gt 30,000 30,000 0
401 AlEHIZL £ 0HY| 30,000 30,000 0
01 Al&H| 29,676 29,676 0
OA2F2 THOH Ol A 30,000, 000& x98.92% 29,676
03 Al 201 Y| 324 324 0
OLTHE THOHO BEAFSY 30,000,000 x1.08% 324
SHM A AH|(KIAFH) 53,464 53,320 144
JlE&dl 53,464 53,320 144
X AIH DJ|12& | 53,464 53,320 144
201 et d| 14,664 14,520 144
01 AFR 2t 2| bl 11,664 11,520 144
OHHE g2FX 9,331,000& 1 9,331
OHE HL=X(SEH|) 2,333,000 x1 2,333
02 E=22%H| 3,000 3,000 0
OFAMNSK L 22 3,000
202 04| 27,720 27,720 0
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© X AR
D HES2AAH|I(XIALSH)
:Jl23tl

SA - ZE-B(EN) - NRAY - B S il &t o il

01 = LH 4 bl 2,880 2,880
oy gR=d 240,000& »12Y 2,880

02 X 24,840 24,840
osa 200,000& x 18 «12& 2,400
OfHZ Olot 170,000 11H »12& 22,440

203 YR =2t 10,080 10,080

01 JI22H =4 6,600 6,600
OoJ1229 6,600,000& 14 6,600

02 A A 2= 480 480
OF &ALt 40,000& 129 480

04 FN2IELSFAH 3,000 3,000
ORA2Y 250,000& =122 3,000

405 THebH S| 1,000 1,000

01 AL 2 S FH S| 1,000 1,000
ogd gR=d 1,000
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